til 2

1
2
1
2,
- , (Chi Square)
3 2
{-test
4, ANOVA  (Analysis of
Variance)
D,
3 4
1

41 4.13



41

25
25- 45
46 - 65
65

41
25-45

648
648
39

525
63

648

119
384
96
15
34
648

81.0
59.3

100.0
0.0
100.0

6.0
81.0
12.8

0.2
100.0

18.4
59.3
14.8
2.3
5.2
100.0

18



4.2

4.2
53.2
64.1
10

345
214
59
28

648

28
415
113

29

15

48
648

146
136
357
648

33.0

5.1

53.2

33.0
9.1
43
0.4

100.0

43
64.1
174

45

2.3

14

100.0

14
22.5
21.0
5.1

100.0

19



43

8-12
13- 17

1-5

17

43

59.9

51.9
21.8

§-12

62
388
83
115
648

137

34
141
336
648

42
594
10

648

211

917

9.6
59.9
128
17.7

100.0

211
5.2
218
51.9
100.0

6.5
91.7

15

0.3
100.0

80



4.4

8-12
13- 17
17

83.9
56.8
67.4
83.7

544
104
648

12

59

17
104
33
10
104
17

87
104

83.9
16.1
100.0

115
8.7
56.8
2.9
19
16.3
1.9
100.0

317
67.4
0.9
100.0
16.3

83.7
100.0

8-12



4.5

5,000

5,001 - 10,000

10,001 - 15,000

15,001 - 20,000
20,000

500

501 - 1,000

1,001 - 1,500
1,500

5,000

5,001 - 10,000

10,001 - 15,000

15,001 - 20,000
20,000

5,000

5,001 - 10,000

10,001 - 15,000

15,001 - 20,000
20,000

25
41
29

104

511
68

648

23
354
223
43

648

301
250
51
40

648

82

240
39.4
21.9
3.9
48
100.0

89.0
105
0.3
0.2

100.0

3.5
54.6
34.4

6.6

0.8

100.0

0.9
46.4
38.6

1.9

6.2

100.0



45
5,001-10,000
500
5,001-10,000
10.001- 15,000 34.4
5,001-10,000
10.001- 15,000 38.6

4.6

4.6
5l4

394

63
26
28
333
56
86
14
39

648

89.0
54.6

46.4

9.7
4.0
43
514
8.6
13.3
2.2
6.0
0.5
100.0

83



4.7

4.7

25.6

3l
12
281
69
48
12
166
23

648

444

48
18
44.4
10.6
1.5
18
25.6
3.5

100.0

84



48

48

314

29.2

39.1

459
445
3%
643
645
648
647

1.2

238
410
648

56
62
292
410

10.8
68.6
60.9
99.2
99.5
100.0
99.8

63.3

36.7
63.3
100.0

13.7
151
1.2
100.0

189
203
253

—_ O W

85

29.2
314
39.1
0.8
0.5
0.0
0.2



4.9
a
49
97.7
4.10
410

87.5

12
633
648

604
41
645

93.6

56
25
567
648

0.5

18
97.7
100.0

93.6
6.4
100.0

8.6

3.9
87.5
100.0

86



411

4.12

500
143
648

411
1.2

224
232
192
648

4.12
359 345

1.2
22.8
100.0

34.5
35.9
29.6
100.0

87



68.7

4.13

4.30

413

431

437

432

31.3

4.14

439

203
445
648

88

31.3
68.7
100.0
4.15
4.16 4.22
4.23
2
4.33 4.36



4.14

250 38.5

398 61.5

648 100.0
4.14 648

398 61.5



4.15

221
118

398

29

38
15
37

25

48
61
125
398

113
285

398

51.0

29.7

133
100.0

1.3
18
1.0
9.6
3.8
9.3
12
6.3
1.0
12.0
153
314
100.0

264
1.6
100.0

90



415 ()

51.0

48.0

4.15

81.2

31
341

398

191
98
41
11
13
16

25
398

1.6

18
67.2
2.0
2.3
0.7
100.0

48.0
24.6
10.3
2.8
3.3
40
0.5
0.2
6.3

100.0



4.16

()
5,000 1
(16.7)
5,001-10,000 110
(36.5)
10,001-15,000 97
(38.8)
15,001-20,000 19
(37.3)
20,000 23
(57.5)
X2 = 782759

416

15,001-20,000 10,001-15,000

63.5, 62.7,

42.5

92

() ()
5 6
(83.3) (100.0)
191 301
(63.5) (100.0)
153 250
(61.2) (100.0)
3 51
(62.7) (100.0)
17 40
(42.5) (100.0)
e oo
5,000
83.3
5,001-10,000
20,000

05



4.17
X2 = 6.22946
4.17
52.5, 50.0

) ()
129 216
(37.4) (62.6)
18 136
(36.4) (63.6)
28 3l
(47.5) (52.5)
14 14
(50.0) (50.0)
1 1
(50.0) (50.0)
df =4 P> .05
63.6
50.0

05

93

345
(100.0)
214
(100.0)
59
(100.0)
28
(100.0)

(100.0)

62.6



9%

4.18 ’

() () ()
143 95 238
(60.1) (39.9) (100.0)
107 303 410
(26.1) (73.9) (100.0)

X2 = 67.39895 =1 peol

4.18

139
39.9 ’
001



4.19
() ()
1 31 31
(50.0) (50.0)
15 131 257
(33.7) (66.3)
6-10 3 8
(42.2) (57.8)
10 53 62
(46.1) (53.9)

X2 = 10.39795 df =3 p<l
4.19
1-5

6-10

1 57.8, 53.9

01

95

62
(100.0)
388
(100.0)
83
(100.0)
115
(100.0)

1-5

66.3



96

4.20

() () ()
27 121 148
(18.2) (81.8) (100.0)
223 277 500
(44.6) (55.4) (100.0)

X2 = 33.47862 df =1 P <.001
4.20
81.8

55.4

.001



421
()
(Introvert) 139
(62.1)
(Extrovert) 45
(19.4)

X2 = 86.15790 df =1
421

80.6
31.9
001

(
85

(37.9)
187
(80.6)

P<.001

)

97

24
(100.0)
23
(100.0)



233 212
(52.4) (47.6)
17 186
(8.3) (91.7)
X2 = 113.82049 aif = p<.001
4.22
91.7
47.6

001

98

445
(100.0)
203

(100.0)



25

4

25

23

)
13

(33.3)
237
(38.9)

X2 = 048212 df =1

4.23
66.7
61.1
05

P >.05

2
(66.7)
372
(61.1)

25
25

99

39
(100.0)
609
(100.0)



4.24

() ()
4 75
(37.0) (63.0)
153 231
(3.8) (60.2)
3% 60
(37.5) (62.5)
4 11
(26.7) (73.3)
13 11
(38.2) (61.8)

X2 = 1.335650 df =4 P>.05
4.24
3.3

63.0, 602, 625 618 ’
05

100

119
(100.0)
384
(100.0)
%
(100.0)
15
(100.0)
3
(100.0)



4.25
()
231
(38.5)
19
(39.6)
X2 = 02201 & =1

4.25

60.4
05

369
(61.5)
2
(60.4)

p>.05

101

600
(100.0)
1
(100.0)

61.5



4.26

X2 = 1070777

4.26

73.0

01

37
(27.0)
16
(47.0)
55
(39.0)
142
(423)

100
(73.0)
18
(53.0)
86
(61.0)
194
(57.7)

=] P<.01

2
61.0, 57.7,

3
53.0

102

197
(100.0)
3
(100.0)
141
(100.0)
336
(100.0)



4.27

()
B 11

(26.2)

8-12 234
(39.4)

13-17 4
(40.0)

17 1
(50.0)

X2 = 3.00539 df =3

4.21

05

31
(73.8)
360
(60.6)
(60.0)
(50.0)

P >.05

103

£
(100.0)
504
(100.0)
10
(100.0)

(100.0)



104

128 ’
() () ()
208 33 551
(37.7) (62.3) (100.0)
1 o5 07
(433) (56.7) (100.0)
Xt = 107194 =1 P>

4.28

05



4.29

()
2
(66.7)
(0)
248
(39.2)
X2 = 8.63202 o =2
429
100

05

60.8

105

(100.0)
1
(100.0)
633
(100.0)

33.3



4.30

05

X2 = 0.60396

4.30

(

)

23
(41.0)
8
(32.0)
219
(38.6)

df

(

)
3

(59.0)

17

(68.0)

2 P> 05

66.0, 61.4

348
(61.4)

2
59.0

3

106

56
(100.0)
%
(100.0)
567
(100.0)



431
X D
9.85 1.66
12.35 11.94
= p < (1

431

9.57
8.73

05

107

t

D
171 1.56
10.10 2,19

01



108

432
: - t
X SD X SD
1003 164 968 167 266
791 1033 1416 1212 671
5 < (1
4.32
01

05



4.33
1
1-5
6-10
10
10
4.34
1
1-5
6-10

10

433

1-5

(9.60)

62
388
83
115

9.60

9.73

9.74
10.26

10

1-5
(9.73)
0.13

01

1.68
1.63
1.67
1.70

.05

6-10
(9.74)

0.14
0.01

3.5710

109

.0139**

4.34

10

(10.26)
0.66
0.53*
0.52



4.35

4.36

10

4.35

137
34
141
336

05

3

(10.80)

14.29
12.62
11.63
10.80

05

2

(11.63)
0.83

D
11.89
12.63
11.85
11.69

F

2.8885

1

(12.62)
182
0.99

110

P

0349

4.36

(14.29)
3.49"
2.66
167



X2 test

36.1
4.31

374
12
!
2
3

398

431
93.9

6.1

93.9
3.0
18
0.5
0.8

100.0



4.38

L)

213
11

29
141
398

251

337
32
20

398

112

53.5
2.8
1.0
1.3
35.4
100.0

63.1
40
115
2.0
0.5
45
2.0
0.8
0.5
0.8
9.8
0.5
100.0

84.7
8.0
5.0
2.3

100.0



438 ()

345 86.7
45 113
8 2.0
398 100.0
438
53.5
354
63.1 84.7
86.7
4.39
338 84.9
24 6.0
[ 9 2.3
o 22 5.9
1 0.3
2 0.5
2 0.5
398 100.0
4.39

84.9
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